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[ Answer M
1 Verify that F belongs to (P) and (d) lies in it. 1
) E is on (d) then E belongs to (P) and AE(-1,0,—2) so AE = 2N(P) 1
3 =3 and EL® =3(t+1)* then 3(t+1)*=3= .
t=—2ort=0 So L(2,0,-2)
_—— — |-8
4 vzl\AL.(AEAAF)\zuzﬂuB‘ 1
6 6
1 Answer M
ci 3 2 ¢ 1
R/A\=x3_° . = R/\=%4x23_ 2~
a| P(RE) SRR pENR) =p(E). P(RE) 6XC8 - 1
1 R/V=4,Ci_1
POAR)=p(O). P(R{) = R
b 1
P(R)=p(ENR) +p(ONR) = %
P(B) = p(EnB) + p(OnB) = p(E).p(B/E) + p(O).p(B/O) =
2 1 C5 2 C4 _u 1
3 ¢Z 3" cz 42
E p(ENB) _5/42 5
3 PR = p(B) 11/42 11 1
11 Answer M
a Z'-2i :_—2 then z(z'-2i) =-2 0.5
1 z
b | arg(z(z'—2i)) =argz+arg(z'—2i) =arg(-2) = n[Zn] 0.5
4| 2= 2i(z+1) 0.5
Z
2i(z +i 2i(z+1 2i||lz+i| 2AM
2 | b | owr—[pesD]_BE_Pieri .
7 2 oM
. M belongs to perp bis of [OA] then MA=MO so OM'’ =2, therefore M* 05
Moves on circle center O and radius 2. '
,  —2X 2
a | X'=———andy = 2+2y2 1
X“+y X +y
3 -1 1 — -1 1 ——
x=ythen M'(—,2+=) so EM'(—,=) and OM(X,y)
b X X X X 0.5
EM’. OM =0 so (EM’) L (OM).
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Answer

lim f(x)=—co then the line (D) : x = -1 is an asymptote to (C) .

o 05
lim f(x) = ) (+w©) =+ ; f(2.5) ~5.22. 1
X X R | —x
£(x) = e* [Ze (x +1);2e ]
(x+1) ) N
((x+1)2 —(x+1)+2J x

= > e ., 1

2 (X +1) fi(x) /
2 T —o
i +12 e* >0 for all x
(x+1)

Let ¢(x)=TF(X)—X.
3| $(1.8)~—0.07 <0 and §(1.9)~0.17 >0 1

If x =0, then f(0) = -1 ,s0 (C) cuts the y-axis in (0,-1)

If f(x) = 0, then x = 1, so (C) cuts the x-axis in (1; 0). 0.5

7/ f 2
On |-L+od,  is continuous and strictly increasing, it has an inverse

. 0.5
function .
(C") and (C) are symmetrical with respect to y = x. 1
See graph.
Due to symmetry w.r.t. y = X
6 The area of the region bounded by (C"), the line (d), the y-axis and the
Line with equation x = —1is= 15

0.53 + area of right isosceles triangle with side 1 =
1.03 units of area
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